

# Applications of Mathematics

---

Chun Wang; Tian-Zhou Xu

Hyers-Ulam stability of fractional linear differential equations involving Caputo fractional derivatives

*Applications of Mathematics*, Vol. 60 (2015), No. 4, 383–393

Persistent URL: <http://dml.cz/dmlcz/144314>

## Terms of use:

© Institute of Mathematics AS CR, 2015

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

HYERS-ULAM STABILITY OF FRACTIONAL LINEAR  
DIFFERENTIAL EQUATIONS INVOLVING  
CAPUTO FRACTIONAL DERIVATIVES

CHUN WANG, TIAN-ZHOU XU, Beijing

(Received November 25, 2014)

*Abstract.* The aim of this paper is to study the stability of fractional differential equations in Hyers-Ulam sense. Namely, if we replace a given fractional differential equation by a fractional differential inequality, we ask when the solutions of the fractional differential inequality are close to the solutions of the strict differential equation. In this paper, we investigate the Hyers-Ulam stability of two types of fractional linear differential equations with Caputo fractional derivatives. We prove that the two types of fractional linear differential equations are Hyers-Ulam stable by applying the Laplace transform method. Finally, an example is given to illustrate the theoretical results.

*Keywords:* Hyers-Ulam stability; Laplace transform method; fractional differential equation; Caputo fractional derivative

*MSC 2010:* 26D10, 34A08

1. INTRODUCTION AND PRELIMINARIES

For some equations (differential equations, functional equations, etc.) describing physical models and practical problems, finding exact solutions of these equations is very difficult, and the form of the exact solutions (if they exist) is often so complicated that it is not convenient for numerical calculation. In view of this, it is necessary to discuss approximate solutions with relatively simple form, and ask whether the approximate solutions lie near the exact solutions.

Generally, we say that a differential equation is stable in Hyers-Ulam sense if for every solution of the perturbed equation there exists a solution of the equation that is close to it. In other words, if we replace a given differential equation by

---

This work is supported by the National Natural Science Foundation of China (11171022).

differential inequality, when can one assert that the solutions of the inequality lie near the solutions of the equation?

In recent years, many researchers have focused on the study of Hyers-Ulam stability of differential equations, and gained a series of results (see [1]–[7] and [9]–[14] and the references therein).

Recently, by applying Laplace transform method, Rezaei, Jung, and Rassias discussed Hyers-Ulam stability of linear differential equations (see [11]). Popa and Raşa proved the generalized Hyers-Ulam stability of linear differential equations in a Banach space (see [10]). András and Mészáros presented Hyers-Ulam stability of dynamic equations on time scales via Picard operators (see [1]). Regarding partial differential equations, in [9], Lungu and Popa discussed Hyers-Ulam stability of a first order partial differential equation, and in [2], Gordji, Cho, Ghaemi, and Alizadeh investigated stability of second order partial differential equations. Hegyi and Jung discussed the stability of Laplace's equation (see [3]). As for fractional differential equations, Wang, Zhou et al. (see [12], [13], [14]) proved the stability of fractional evolution equations and the stability of nonlinear differential equations with fractional integrable impulses, and they also introduced some new concepts concerning the stability of fractional differential equations. In [4], Ibrahim presented Hyers-Ulam stability of Cauchy differential equation of fractional order in the unit disk. However, the theory of Hyers-Ulam stability of fractional differential equations is still in its initial stages.

The main aim of this paper is to prove the Hyers-Ulam stability of the following two types of fractional linear differential equations:

$$(1.1) \quad ({}^C D_{0+}^\alpha y)(x) - \lambda y(x) = f(x),$$

and

$$(1.2) \quad ({}^C D_{0+}^\alpha y)(x) - \lambda ({}^C D_{0+}^\beta y)(x) = g(x),$$

where  $x > 0$ ,  $\lambda \in \mathbb{R}$ ,  $n - 1 < \alpha \leq n$ ,  $m - 1 < \beta \leq m$ ,  $0 < \beta < \alpha$ ,  $m, n \in \mathbb{N}$ ,  $m \leq n$ ,  $f(x)$  and  $g(x)$  are real functions defined on  $\mathbb{R}_+$ , and  ${}^C D_{0+}^\alpha$  is the Caputo fractional derivative of order  $\alpha$  defined by

$$(1.3) \quad ({}^C D_{0+}^\alpha y)(x) = \frac{1}{\Gamma(n - \alpha)} \int_0^x (x - t)^{n - \alpha - 1} y^{(n)}(t) dt.$$

In order to prove our main results, we recall the definition of the Laplace transform and some basic properties of the Laplace transform for fractional derivatives.

A function  $y: (0, \infty) \rightarrow \mathbb{R}$  is said to be of exponential order if there are constants  $A, B \in \mathbb{R}$  such that  $|y(x)| \leq Ae^{Bx}$  for all  $x > 0$ . For each function  $y: (0, \infty) \rightarrow \mathbb{R}$  of exponential order, the Laplace transform of  $y(x)$  is defined by

$$(1.4) \quad \mathcal{L}\{y(x)\}(s) := \int_0^\infty e^{-sx}y(x) dx, \quad s \in \mathbb{C}.$$

If the integral (1.4) is convergent at the point  $s_0 \in \mathbb{C}$ , then it converges absolutely for  $s \in \mathbb{C}$  such that  $\Re(s) > \Re(s_0)$ . One of the most useful properties of the Laplace transform is the convolution property

$$(1.5) \quad \mathcal{L}\{y_1(x) * y_2(x)\} = \mathcal{L}\{y_1(x)\}\mathcal{L}\{y_2(x)\},$$

where  $y_1(x) * y_2(x) = \int_0^x y_1(x - \xi)y_2(\xi) d\xi$ .

The following results are some basic properties of the Laplace transform of the Caputo fractional derivatives.

**Lemma 1.1** ([8]). *Let  $\alpha > 0$ ,  $n - 1 < \alpha \leq n$ ,  $n \in \mathbb{N}$  be such that  $y \in C^n(\mathbb{R}_+)$ ,  $y^{(n)} \in L_1(0, b)$  for any  $b > 0$ , the estimates  $|y^{(n)}(x)| \leq Be^{q_0x}$  (for  $x > b > 0$ ,  $B$  and  $q_0$  are all constants,  $B > 0$ ,  $q_0 > 0$ ) holds, the Laplace transforms  $\mathcal{L}\{y(x)\}$  and  $\mathcal{L}\{D^n y(x)\}$  exist, and  $\lim_{x \rightarrow \infty} (D^k y)(x) = 0$  for  $k = 0, 1, \dots, n - 1$ . Then the following relation holds:*

$$(1.6) \quad \mathcal{L}\{{}^C D_{0+}^\alpha y(x)\}(s) = s^\alpha \mathcal{L}\{y(x)\}(s) - \sum_{k=0}^{n-1} s^{\alpha-k-1} (D^k y)(0).$$

In particular, if  $0 < \alpha \leq 1$ , then

$$(1.7) \quad \mathcal{L}\{{}^C D_{0+}^\alpha y(x)\}(s) = s^\alpha \mathcal{L}\{y(x)\}(s) - s^{\alpha-1} y(0).$$

The Mittag-Leffler function  $E_{\alpha,\beta}(z)$  is defined by

$$(1.8) \quad E_{\alpha,\beta} = \sum_{k=0}^\infty \frac{z^k}{\Gamma(\alpha k + \beta)}, \quad z, \beta \in \mathbb{C}, \Re(\alpha) > 0,$$

when  $\alpha = \beta = 1$ , we can see that  $E_{1,1}(z) = e^z$ . More detailed information about the function can be found in [8].

**Lemma 1.2** ([8]). *If  $\Re(s) > 0$ ,  $\lambda \in \mathbb{C}$ ,  $|\lambda s^{-\alpha}| < 1$ , then*

$$(1.9) \quad \mathcal{L}\{x^{\beta-1}E_{\alpha,\beta}(\lambda x^\alpha)\}(s) = \frac{s^{\alpha-\beta}}{s^\alpha - \lambda},$$

where  $E_{\alpha,\beta}(\lambda x^\alpha)$  is the Mittag-Leffler function.

**Remark 1.3.** When  $\alpha = \beta$ , we have  $\mathcal{L}\{x^{\alpha-1}E_{\alpha,\alpha}(\lambda x^\alpha)\}(s) = 1/(s^\alpha - \lambda)$ .

## 2. HYERS-ULAM STABILITY OF FRACTIONAL DIFFERENTIAL EQUATION (1.1)

In this section, we will prove that the fractional differential equation (1.1) is Hyers-Ulam stable.

**Definition 2.1.** The fractional differential equation  $\varphi(f, y, D^{\alpha_1}y, \dots, D^{\alpha_n}y) = 0$  has Hyers-Ulam stability if for a given  $\varepsilon > 0$  and a function  $y$  such that

$$|\varphi(f, y, D^{\alpha_1}y, \dots, D^{\alpha_n}y)| \leq \varepsilon,$$

there exists a solution  $y_a$  of the differential equation such that  $|y(x) - y_a(x)| \leq K(\varepsilon)$  and  $\lim_{\varepsilon \rightarrow 0} K(\varepsilon) = 0$ . If this statement is also true when we replace  $\varepsilon$  and  $K(\varepsilon)$  by  $F(x)$  and  $C(x)$ , where  $F, C$  are appropriate functions not depending on  $y$  and  $y_a$  explicitly, then we say that the differential equation has the generalized Hyers-Ulam stability.

More about stability of ordinary differential equations and fractional differential equations can be found in [7], [11], [12] and [13].

**Theorem 2.2.** *Let  $\lambda \in \mathbb{R}$ ,  $n - 1 < \alpha \leq n$ ,  $n \in \mathbb{N}$ , and let  $f(x)$  be a given real function defined on  $\mathbb{R}_+$ . If a function  $y: (0, \infty) \rightarrow \mathbb{R}$  satisfies the inequality*

$$(2.1) \quad |({}^C D_{0+}^\alpha y)(x) - \lambda y(x) - f(x)| \leq \varepsilon$$

for all  $x > 0$  and for some  $\varepsilon > 0$ , then there exists a solution  $y_a: (0, \infty) \rightarrow \mathbb{R}$  of the fractional differential equation

$$(2.2) \quad ({}^C D_{0+}^\alpha y)(x) - \lambda y(x) = f(x)$$

such that

$$(2.3) \quad |y - y_a| \leq \varepsilon x^\alpha E_{\alpha,\alpha+1}(|\lambda|x^\alpha).$$

Proof. Putting  $y^{(k)}(0) = b_k$ , for  $k = 0, 1, \dots, n-1$ , and  $Y(x) = ({}^C D_{0+}^\alpha y)(x) - \lambda y(x) - f(x)$ , by Lemma 1.1 we obtain

$$\begin{aligned}
 (2.4) \quad \mathcal{L}\{Y(x)\} &= \mathcal{L}\{({}^C D_{0+}^\alpha y)(x) - \lambda y(x) - f(x)\} \\
 &= s^\alpha \mathcal{L}\{y(x)\} - \sum_{k=0}^{n-1} s^{\alpha-k-1} b_k - \lambda \mathcal{L}\{y(x)\} - \mathcal{L}\{f(x)\} \\
 &= (s^\alpha - \lambda) \mathcal{L}\{y(x)\} - \sum_{k=0}^{n-1} s^{\alpha-k-1} b_k - \mathcal{L}\{f(x)\},
 \end{aligned}$$

so

$$(2.5) \quad \mathcal{L}\{y(x)\} = \frac{\sum_{k=0}^{n-1} s^{\alpha-k-1} b_k + \mathcal{L}\{f(x)\}}{s^\alpha - \lambda} + \frac{\mathcal{L}\{Y(x)\}}{s^\alpha - \lambda}.$$

Setting

$$(2.6) \quad y_a(x) = \sum_{k=0}^{n-1} b_k x^k E_{\alpha, k+1}(\lambda x^\alpha) + \int_0^x (x-t)^{\alpha-1} E_{\alpha, \alpha}[\lambda(x-t)^\alpha] f(t) dt,$$

by Lemma 1.2 and (1.5), we get

$$\begin{aligned}
 (2.7) \quad \mathcal{L}\{y_a(x)\} &= \mathcal{L}\left\{ \sum_{k=0}^{n-1} b_k x^k E_{\alpha, k+1}(\lambda x^\alpha) \right\} \\
 &\quad + \mathcal{L}\left\{ \int_0^x (x-t)^{\alpha-1} E_{\alpha, \alpha}[\lambda(x-t)^\alpha] f(t) dt \right\} \\
 &= \sum_{k=0}^{n-1} b_k \mathcal{L}\{x^k E_{\alpha, k+1}(\lambda x^\alpha)\} + \mathcal{L}\{x^{\alpha-1} E_{\alpha, \alpha}(\lambda x^\alpha)\} \mathcal{L}\{f(x)\} \\
 &= \frac{\sum_{k=0}^{n-1} b_k s^{\alpha-(k+1)} + \mathcal{L}\{f(x)\}}{s^\alpha - \lambda}.
 \end{aligned}$$

By Lemma 1.1, (2.7) and a simple computation, one can get

$$\begin{aligned}
 (2.8) \quad \mathcal{L}\{({}^C D_{0+}^\alpha y_a)(x) - \lambda y_a(x)\} &= s^\alpha \mathcal{L}\{y_a(x)\} - \sum_{k=0}^{n-1} s^{\alpha-k-1} b_k - \lambda \mathcal{L}\{y_a(x)\} \\
 &= \mathcal{L}\{f(x)\}.
 \end{aligned}$$

Since  $\mathcal{L}$  is one-to-one, it follows that  $({}^C D_{0+}^\alpha y_a)(x) - \lambda y_a(x) = f(x)$ , so  $y_a(x)$  is a solution of (2.2).

By (2.5) and (2.7), we obtain

$$(2.9) \quad \mathcal{L}\{y(x) - y_a(x)\} = \frac{\mathcal{L}\{Y(x)\}}{s^\alpha - \lambda}.$$

Using the convolution property and Lemma 1.2, one can get

$$(2.10) \quad \mathcal{L}\{(x^{\alpha-1}E_{\alpha,\alpha}(\lambda x^\alpha)) * Y(x)\} = \mathcal{L}\{x^{\alpha-1}E_{\alpha,\alpha}(\lambda x^\alpha)\}\mathcal{L}\{Y(x)\} = \frac{\mathcal{L}\{Y(x)\}}{s^\alpha - \lambda}.$$

By (2.9) and (2.10), we have

$$(2.11) \quad y(x) - y_a(x) = (x^{\alpha-1}E_{\alpha,\alpha}(\lambda x^\alpha)) * Y(x),$$

therefore, from (2.1), it follows that

$$(2.12) \quad \begin{aligned} |y(x) - y_a(x)| &= |(x^{\alpha-1}E_{\alpha,\alpha}(\lambda x^\alpha)) * Y(x)| \\ &= \left| \int_0^x (x-t)^{\alpha-1} E_{\alpha,\alpha}[\lambda(x-t)^\alpha] Y(t) dt \right| \\ &= \left| \int_0^x \sum_{k=0}^{\infty} \frac{\lambda^k (x-t)^{\alpha k + \alpha - 1}}{\Gamma(\alpha k + \alpha)} Y(t) dt \right| \\ &= \left| \sum_{k=0}^{\infty} \int_0^x \frac{\lambda^k (x-t)^{\alpha k + \alpha - 1}}{\Gamma(\alpha k + \alpha)} Y(t) dt \right| \\ &\leq \sum_{k=0}^{\infty} \int_0^x \left| \frac{\lambda^k (x-t)^{\alpha k + \alpha - 1}}{\Gamma(\alpha k + \alpha)} \right| |Y(t)| dt \\ &\leq \varepsilon \sum_{k=0}^{\infty} \frac{|\lambda|^k}{\Gamma(\alpha k + \alpha)} \int_0^x (x-t)^{\alpha k + \alpha - 1} dt \\ &= \varepsilon x^\alpha \sum_{k=0}^{\infty} \frac{(|\lambda|x^\alpha)^k}{\Gamma(\alpha k + \alpha + 1)} \\ &= \varepsilon x^\alpha E_{\alpha,\alpha+1}(|\lambda|x^\alpha), \end{aligned}$$

which completes the proof. □

Similarly, we can prove that the fractional differential equation (2.2) is generalized Hyers-Ulam stable.

**Corollary 2.3.** Let  $\lambda \in \mathbb{R}$ ,  $n - 1 < \alpha \leq n$ ,  $n \in \mathbb{N}$ , and let  $f(x)$  be a given real function defined on  $\mathbb{R}_+$ . If a function  $y: (0, \infty) \rightarrow \mathbb{R}$  satisfies the inequality

$$(2.13) \quad |({}^C D_{0+}^\alpha y)(x) - \lambda y(x) - f(x)| \leq F(x)$$

for all  $x > 0$  and for some function  $F(x) > 0$ , then there exists a solution  $y_a: (0, \infty) \rightarrow \mathbb{R}$  of the fractional differential equation (2.2) such that

$$(2.14) \quad |y - y_a| \leq C(x),$$

where  $C(x) = x^\alpha F(x) E_{\alpha, \alpha+1}(|\lambda|x^\alpha)$ .

### 3. HYERS-ULAM STABILITY OF FRACTIONAL DIFFERENTIAL EQUATION (1.2)

In this section, we will extend Theorem 2.2 and prove that fractional differential equation (1.2) is Hyers-Ulam stable.

**Theorem 3.1.** Let  $\lambda \in \mathbb{R}$ ,  $m, n \in \mathbb{N}$ ,  $m \leq n$ ,  $n - 1 < \alpha \leq n$ ,  $m - 1 < \beta \leq m$ ,  $0 < \beta < \alpha$ , and let  $g(x)$  be a given real function defined on  $\mathbb{R}_+$ . If a function  $y: (0, \infty) \rightarrow \mathbb{R}$  satisfies the inequality

$$(3.1) \quad |({}^C D_{0+}^\alpha y)(x) - \lambda({}^C D_{0+}^\beta y)(x) - g(x)| \leq \varepsilon$$

for all  $x > 0$  and some  $\varepsilon > 0$ , then there exists a solution  $y_a: (0, \infty) \rightarrow \mathbb{R}$  of the fractional differential equation

$$(3.2) \quad ({}^C D_{0+}^\alpha y)(x) - \lambda({}^C D_{0+}^\beta y)(x) = g(x)$$

such that

$$(3.3) \quad |y - y_a| \leq \varepsilon x^\alpha E_{\alpha-\beta, \alpha+1}(|\lambda|x^{\alpha-\beta}).$$

**Proof.** Putting  $y^{(k)}(0) = b_k \in \mathbb{R}$  for  $k = 0, 1, \dots, n - 1$ , and  $Y(x) = ({}^C D_{0+}^\alpha y)(x) - \lambda({}^C D_{0+}^\beta y)(x) - g(x)$  for each  $x > 0$ , by Lemma 1.1 we have

$$(3.4) \quad \begin{aligned} \mathcal{L}\{Y(x)\} &= \mathcal{L}\{({}^C D_{0+}^\alpha y)(x) - \lambda({}^C D_{0+}^\beta y)(x) - g(x)\} \\ &= \mathcal{L}\{({}^C D_{0+}^\alpha y)(x)\} - \lambda \mathcal{L}\{({}^C D_{0+}^\beta y)(x)\} - \mathcal{L}\{g(x)\} \\ &= s^\alpha \mathcal{L}\{y(x)\} - \sum_{k=0}^{n-1} s^{\alpha-k-1} b_k - \lambda \left\{ s^\beta \mathcal{L}\{y(x)\} - \sum_{k=0}^{m-1} s^{\beta-k-1} b_k \right\} \\ &\quad - \mathcal{L}\{g(x)\} \\ &= (s^\alpha - \lambda s^\beta) \mathcal{L}\{y(x)\} - \sum_{k=0}^{n-1} s^{\alpha-k-1} b_k + \lambda \sum_{k=0}^{m-1} s^{\beta-k-1} b_k - \mathcal{L}\{g(x)\}. \end{aligned}$$



By (3.4), it follows that

$$(3.5) \quad \mathcal{L}\{y(x)\} = \frac{\sum_{k=0}^{n-1} s^{\alpha-k-1} b_k - \lambda \sum_{k=0}^{m-1} s^{\beta-k-1} b_k + \mathcal{L}\{g(x)\}}{s^\alpha - \lambda s^\beta} + \frac{\mathcal{L}\{Y(x)\}}{s^\alpha - \lambda s^\beta}.$$

Put

$$(3.6) \quad y_a(x) = \sum_{k=0}^{n-1} b_k y_k(x) + \int_0^x (x-t)^{\alpha-1} E_{\alpha-\beta, \alpha}[\lambda(x-t)^{\alpha-\beta}] g(t) dt,$$

where

$$(3.7) \quad y_k(x) = x^k E_{\alpha-\beta, k+1}(\lambda x^{\alpha-\beta}) - \lambda x^{\alpha-\beta+k} E_{\alpha-\beta, \alpha-\beta+k+1}(\lambda x^{\alpha-\beta}), \quad k = 0, 1, \dots, m-1,$$

$$(3.8) \quad y_k(x) = x^k E_{\alpha-\beta, k+1}(\lambda x^{\alpha-\beta}), \quad k = m, \dots, n-1.$$

By Lemma 1.2 and (1.5), we get

$$(3.9) \quad \begin{aligned} \mathcal{L}\{y_a(x)\} &= \mathcal{L}\left\{\sum_{k=0}^{m-1} b_k y_k(x)\right\} + \mathcal{L}\left\{\sum_{k=m}^{n-1} b_k y_k(x)\right\} \\ &\quad + \mathcal{L}\left\{\int_0^x (x-t)^{\alpha-1} E_{\alpha-\beta, \alpha}[\lambda(x-t)^{\alpha-\beta}] g(t) dt\right\} \\ &= \sum_{k=0}^{m-1} b_k \mathcal{L}\{x^k E_{\alpha-\beta, k+1}(\lambda x^{\alpha-\beta}) - \lambda x^{\alpha-\beta+k} E_{\alpha-\beta, \alpha-\beta+k+1}(\lambda x^{\alpha-\beta})\} \\ &\quad + \sum_{k=m}^{n-1} b_k \mathcal{L}\{x^k E_{\alpha-\beta, k+1}(\lambda x^{\alpha-\beta})\} \\ &\quad + \mathcal{L}\{x^{\alpha-1} E_{\alpha-\beta, \alpha}(\lambda x^{\alpha-\beta})\} \mathcal{L}\{g(x)\} \\ &= \frac{\sum_{k=0}^{n-1} b_k s^{\alpha-k-1} - \lambda \sum_{k=0}^{m-1} b_k s^{\beta-k-1} + \mathcal{L}\{g(x)\}}{s^\alpha - \lambda s^\beta}. \end{aligned}$$

By (3.9), one can get

$$(3.10) \quad \mathcal{L}\{({}^C D_{0+}^\alpha y_a)(x) - \lambda ({}^C D_{0+}^\beta y_a)(x)\} = \mathcal{L}\{g(x)\},$$

so  $y_a(x)$  is a solution of (3.2).

Using (3.5) and (3.9), we obtain

$$(3.11) \quad \mathcal{L}\{y(x) - y_a(x)\} = \frac{\mathcal{L}\{Y(x)\}}{s^\alpha - \lambda s^\beta}.$$

By (1.5) and Lemma 1.2, we have

$$(3.12) \quad \mathcal{L}\{[x^{\alpha-1}E_{\alpha-\beta,\alpha}(\lambda x^{\alpha-\beta})] * Y(x)\} = \mathcal{L}[x^{\alpha-1}E_{\alpha-\beta,\alpha}(\lambda x^{\alpha-\beta})]\mathcal{L}\{Y(x)\} \\ = \frac{\mathcal{L}\{Y(x)\}}{s^\alpha - \lambda s^\beta}.$$

Using (3.11) and (3.12), we see that

$$(3.13) \quad y(x) - y_a(x) = [x^{\alpha-1}E_{\alpha-\beta,\alpha}(\lambda x^{\alpha-\beta})] * Y(x).$$

Therefore, from (3.1), it follows that

$$(3.14) \quad |y(x) - y_a(x)| = |[x^{\alpha-1}E_{\alpha-\beta,\alpha}(\lambda x^{\alpha-\beta})] * Y(x)| \\ = \left| \int_0^x (x-t)^{\alpha-1} E_{\alpha-\beta,\alpha}[\lambda(x-t)^{\alpha-\beta}] Y(t) dt \right| \\ = \left| \int_0^x \sum_{k=0}^{\infty} \frac{\lambda^k (x-t)^{\alpha k - \beta k + \alpha - 1}}{\Gamma[(\alpha - \beta)k + \alpha]} Y(t) dt \right| \\ \leq \sum_{k=0}^{\infty} \frac{|\lambda|^k}{\Gamma[(\alpha - \beta)k + \alpha]} \left| \int_0^x (x-t)^{\alpha k - \beta k + \alpha - 1} Y(t) dt \right| \\ \leq \sum_{k=0}^{\infty} \frac{|\lambda|^k \varepsilon}{\Gamma[(\alpha - \beta)k + \alpha]} \int_0^x (x-t)^{\alpha k - \beta k + \alpha - 1} dt \\ = \varepsilon x^\alpha \sum_{k=0}^{\infty} \frac{(|\lambda|x^{\alpha-\beta})^k}{\Gamma[(\alpha - \beta)k + \alpha + 1]} \\ = \varepsilon x^\alpha E_{\alpha-\beta,\alpha+1}(|\lambda|x^{\alpha-\beta}),$$

which completes the proof.  $\square$

**Remark 3.2.** If  $\beta = 0$  and  $f(x) = g(x)$ , then the equation  $({}^C D_{0+}^\alpha y)(x) - \lambda({}^C D_{0+}^\beta y)(x) = g(x)$  coincides with  $({}^C D_{0+}^\alpha y)(x) - \lambda y(x) = f(x)$ , and  $\varepsilon x^\alpha E_{\alpha-\beta,\alpha+1}(|\lambda|x^{\alpha-\beta})$  coincides with  $\varepsilon x^\alpha E_{\alpha,\alpha+1}(|\lambda|x^\alpha)$ , so Theorem 3.1 generalizes Theorem 2.2.

**Corollary 3.3.** Let  $\lambda \in \mathbb{R}$ ,  $m, n \in \mathbb{N}$ ,  $m \leq n$ ,  $n - 1 < \alpha \leq n$ ,  $m - 1 < \beta \leq m$ ,  $0 < \beta < \alpha$ , and let  $g(x)$  be a given real function defined on  $\mathbb{R}_+$ . If a function  $y: (0, \infty) \rightarrow \mathbb{R}$  satisfies the inequality

$$(3.15) \quad |({}^C D_{0+}^\alpha y)(x) - \lambda({}^C D_{0+}^\beta y)(x) - g(x)| \leq F(x)$$

for all  $x > 0$  and some function  $F(x) > 0$ , then there exists a solution  $y_a: (0, \infty) \rightarrow \mathbb{R}$  of the fractional differential equation (3.2) such that

$$(3.16) \quad |y - y_a| \leq F(x)x^\alpha E_{\alpha-\beta,\alpha+1}(|\lambda|x^{\alpha-\beta}).$$

#### 4. AN EXAMPLE

Consider the fractional differential equation

$$(4.1) \quad ({}^C D_{0+}^2 y)(x) - \frac{1}{2}({}^C D_{0+}^{\frac{3}{2}} y)(x) = \frac{7}{3} - 2\sqrt{\frac{x}{\pi}},$$

where  $\alpha = 2$ ,  $\beta = \frac{3}{2}$ ,  $\lambda = \frac{1}{2}$ ,  $g(x) = \frac{7}{3} - 2\sqrt{x/\pi}$ .

For  $\varepsilon = \frac{1}{2}$ , it is easy to check that the function  $y_1(x) = x^2$  satisfies

$$(4.2) \quad \left| ({}^C D_{0+}^2 y_1)(x) - \frac{1}{2}({}^C D_{0+}^{\frac{3}{2}} y_1)(x) - \frac{7}{3} + 2\sqrt{\frac{x}{\pi}} \right| < \frac{1}{2},$$

and initial values of  $y_1(x)$  are  $y_1(0) = 0$ ,  $y_1'(0) = 0$ .

From (3.6) and the initial values of  $y_1(x)$ , we get an exact solution of equation (4.1)

$$(4.3) \quad y_a(x) = \int_0^x (x-t) E_{\frac{1}{2},2} \left[ \frac{1}{2}(x-t)^{\frac{1}{2}} \right] \left( \frac{7}{3} - 2\sqrt{\frac{t}{\pi}} \right) dt.$$

By Theorem 3.1, the control function of  $y_1(x)$  is  $\frac{1}{2}x^2 E_{1/2,3}(\frac{1}{2}x^{1/2})$ , thus

$$(4.4) \quad |y_1(x) - y_a(x)| < \frac{1}{2}x^2 E_{1/2,3} \left( \frac{1}{2}x^{1/2} \right),$$

and the error of the approximate solution  $y_1(x)$  can be estimated.

**A c k n o w l e d g e m e n t .** We thank the reviewers for their careful reading of the manuscript, insightful comments and valuable suggestions, which help to improve the quality of the paper.

#### References

- [1] *S. András, A. R. Mészáros*: Ulam-Hyers stability of dynamic equations on time scales via Picard operators. *Appl. Math. Comput.* *219* (2013), 4853–4864.
- [2] *M. Eshaghi Gordji, Y. J. Cho, M. B. Ghaemi, B. Alizadeh*: Stability of the second order partial differential equations. *J. Inequal. Appl. (electronic only) 2011* (2011), Article ID 81, 10 pages.
- [3] *B. Hegyi, S.-M. Jung*: On the stability of Laplace's equation. *Appl. Math. Lett.* *26* (2013), 549–552.
- [4] *R. W. Ibrahim*: Ulam stability of boundary value problem. *Kragujevac J. Math.* *37* (2013), 287–297.
- [5] *S.-M. Jung*: Hyers-Ulam stability of linear differential equations of first order. *Appl. Math. Lett.* *17* (2004), 1135–1140.
- [6] *S.-M. Jung*: Hyers-Ulam stability of linear differential equations of first order. III. *J. Math. Anal. Appl.* *311* (2005), 139–146.

- [7] *S.-M. Jung*: Hyers-Ulam stability of linear differential equations of first order. II. Appl. Math. Lett. *19* (2006), 854–858.
- [8] *A. A. Kilbas, H. M. Srivastava, J. J. Trujillo*: Theory and Applications of Fractional Differential Equations. North-Holland Mathematics Studies 204, Elsevier, Amsterdam, 2006.
- [9] *N. Lungu, D. Popa*: Hyers-Ulam stability of a first order partial differential equation. J. Math. Anal. Appl. *385* (2012), 86–91.
- [10] *D. Popa, I. Raşa*: On the Hyers-Ulam stability of the linear differential equation. J. Math. Anal. Appl. *381* (2011), 530–537.
- [11] *H. Rezaei, S.-M. Jung, T. M. Rassias*: Laplace transform and Hyers-Ulam stability of linear differential equations. J. Math. Anal. Appl. *403* (2013), 244–251.
- [12] *J. Wang, L. Lv, Y. Zhou*: New concepts and results in stability of fractional differential equations. Commun. Nonlinear Sci. Numer. Simul. *17* (2012), 2530–2538.
- [13] *J. Wang, Y. Zhang*: A class of nonlinear differential equations with fractional integrable impulses. Commun. Nonlinear Sci. Numer. Simul. *19* (2014), 3001–3010.
- [14] *J. Wang, Y. Zhou*: Mittag-Leffler-Ulam stabilities of fractional evolution equations. Appl. Math. Lett. *25* (2012), 723–728.

*Authors' addresses:* *Chun Wang* (corresponding author), School of Mathematics and Statistics, Beijing Institute of Technology, Beijing, 100081, P.R. China; Department of Mathematics, Changzhi University, Changzhi, Shanxi, 046011, P.R. China, e-mail: wangchun12001@163.com; *Tian-Zhou Xu*, School of Mathematics and Statistics, Beijing Institute of Technology, Beijing, 100081, P.R. China, e-mail: xutianzhou@bit.edu.cn.